




EXAMPLE 6: 

Consider the functions  𝑓(𝑥) = 𝑥2 , 𝑔(𝑥) = 𝑒𝑥  , ℎ(𝑥) = √𝑥 − 2  find the following: 
 

Composition New Composite Function Derivative 

 

𝑓(𝑔(𝑥)) 

 

(𝑒𝑥)2 = 𝑒2𝑥 
𝑧 = 2𝑥       

𝑑𝑧

𝑑𝑥
= 2          

 𝑒2𝑥 ∗ 2 

 

𝑔(𝑓(𝑥)) 

 

𝑒𝑥2
 

𝑧 = 𝑥2       
𝑑𝑧

𝑑𝑥
= 2𝑥          

𝑒2𝑥 ∗ 2𝑥 

 

ℎ(𝑓(𝑥)) 

 

√𝑥2 − 2 = (𝑥2 − 2)
1
2 

𝑧 = 𝑥2 − 2       
𝑑𝑧

𝑑𝑥
= 2𝑥          

1

2
(𝑥2 − 2)

1
2 ∗ 2𝑥 

 

ℎ(𝑔(𝑥)) 
 

√𝑒𝑥 − 2 = (𝑒𝑥 − 2)
1
2 

𝑧 = 𝑒𝑥 − 2       
𝑑𝑧

𝑑𝑥
= 𝑒𝑥           

1

2
(𝑒𝑥 − 2)

1
2 ∗ 𝑒𝑥  

 

ℎ(ℎ(𝑥)) 

 

√√𝑥 − 2 − 2 = ((𝑥 − 2)
1
2 − 2)

1
2

  

𝑧 = √𝑥 − 2 − 2       
𝑑𝑧

𝑑𝑥
=

1

2
(𝑥 − 2)−

1
2        

1

2
((𝑥 − 2)

1
2 − 2)−

1
2 ∗  

1

2
(𝑥 − 2)−

1

2      

 

 

 


